Nadlesnictwo Maskulinskie
mapka sytuacyjna 1 : 500 000

A . SR
\ =20 IR v éff)h.q@
Ty O (e V.,?Wl/ﬁrm.‘h )

| e
i
w‘ .
=R

A
3
s
/NL Q\s
U “ ) w Y - sn s
A = 3 110ﬂ\\lk e LS = ﬁ. o S 1.
i & 4 ‘_‘ \)m-‘//\ 0 X mn k.lﬂ< e
. \ ~ )NWD \wuah .. a., T 8 A'Aﬁui.’ﬁ A//Jfﬂwls 1

=

S - e z 2
7z ke P % 2 <\ o T ¥
A - O - \ 0 © B . 3
1 - ” S (@ x 5 == .
i ; > -~ / ¥ . * v § 2
— Ve < < (&
TS N & [ ELe) = y ®» /
Q / /X Y 3 : q \
1 0, s > N o 2 e o - 2 . ri S
\) ) 4 ) 3 ;
) Y ; : - T B
-~ 4 1 ) N /. 3
- | \ s 3 7 / 5 g 3
\ o - e 1
s ‘ VY
) \ - 5 (\Nas 5 1 4
nmmn“.‘ > i | < oy N\ 5=
o ) 3 - R
») = T (3 & 4 >
3 < » - »
Y n.w.vﬁ‘u > i
4,
Y N
\ g z f AL
kj 7 @ p) BT
K >, - | NY
% 1 &

AN

- Sfi : hy s
> ) - § AN,
P ) Lt - 3 o : G oy & . N . o=
ST 2/ —=3 ‘ i LY Sl : N ‘
\ b -. \ 7 i =
o - H \ (e
2 y \/ A
R A S Vs - , , )
S\t \ ) )SP nr“u, _ E oy ‘v, > i ,. = T p>

M

numer wyznacza klejnos¢ zaliczania

przebieg po niej jest obowiazkowy
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